	Question
	A Question is given followed by two Statements 1 and 2. Consider the Question and the Statements. 
A certain amount was distributed among X, Y and Z. 
Question: Who received the least amount ?
Statement-1: X received 4/5 of what Y and Z together received.
Statement-2: Y received 2/7 of what X and Z together received. 
Which one of the following is correct in respect of the above Question and the Statements ?

	Type
	multiple-choice

	Option
	The Question can be answered by using one of the Statements alone, but cannot be answered using the other Statement alone.

	Option
	The Question can be answered by using either Statement alone.

	Option
	The Question can be answered by using both the Statements together, but cannot be answered using either Statement alone.

	Option
	The Question cannot be answered even by using both the Statements together.

	Answer
	3

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83





	Question
	 A Question is given followed by two Statements 1 and 2. Consider the Question and the Statements. 
Question: If the average marks in a class are 60, then what is the number of students in the class ?
Statement-1: The highest marks in the class are 70 and the lowest marks are 50. 
Statement-2: Exclusion of highest and lowest marks from the class does not change the average. 
Which one of the following is correct in respect of the above Question and the Statements ?

	Type
	multiple-choice

	Option
	The Question can be answered by using one of the Statements alone, but cannot be answered using the other Statement alone.

	Option
	The Question can be answered by using either Statement alone.

	Option
	The Question can be answered by using both the Statements together, but cannot be answered using either Statement alone.

	Option
	The Question cannot be answered even by using both the Statements together.

	Answer
	4

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83





	Question
	 A Question is given followed by two Statements 1 and 2. Consider the Question and the Statements. 
There are three distinct prime numbers whose sum is a prime number.
Question: What are those three numbers ? 
Statement-1: Their sum is less than 23. 
Statement-2: One of the numbers is 5. 
Which one of the following is correct in respect of the above Question and the Statements ?

	Type
	multiple-choice

	Option
	The Question can be answered by using one of the Statements alone, but cannot be answered using the other Statement alone.

	Option
	The Question can be answered by using either Statement alone.

	Option
	The Question can be answered by using both the Statements together, but cannot be answered using either Statement alone.

	Option
	The Question cannot be answered even by using both the Statements together.

	Answer
	1

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83





	Question
	A Question is given followed by two Statements 1 and 2. Consider the Question and the Statements. 
Question: Is (x + y) an integer ? 
Statement-1: (2x + y) is an integer.
Statement-2: (x + 2y) is an integer. 
Which one of the following is correct in respect of the above Question and the Statements ?

	Type
	multiple-choice

	Option
	The Question can be answered by using one of the Statements alone, but cannot be answered using the other Statement alone.

	Option
	The Question can be answered by using either Statement alone.

	Option
	The Question can be answered by using both the Statements together, but cannot be answered using either Statement alone.

	Option
	The Question cannot be answered even by using both the Statements together.

	Answer
	4

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83





	Question
	A Question is given followed by two Statements 1 and 2. Consider the Question and the Statements. 
A person buys three articles p, q and r for Rs. 50. The price of the article q is Rs. 16 which is the least. 
Question: What is the price of the article p ? 
Statement-1: The cost of p is not more than that of r. 
Statement-2: The cost of r is not more than that of p. 
Which one of the following is correct in respect of the above Question and the Statements ?

	Type
	multiple-choice

	Option
	The Question can be answered by using one of the Statements alone, but cannot be answered using the other Statement alone.

	Option
	The Question can be answered by using either Statement alone.

	Option
	The Question can be answered by using both the Statements together, but cannot be answered using either Statement alone.

	Option
	The Question cannot be answered even by using both the Statements together.

	Answer
	3

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83





	Question
	A Question is given followed by two Statements 1 and 2. Consider the Question and the Statements. 
P, Q, R and S appeared in a test. 
Question: Has P scored more marks than Q ?
Statement-1: The sum of the marks scored by P and Q is equal to the sum of the marks scored by R and S. 
Statement-2: The sum of the marks scored by P and S is more than the sum of the marks scored by Q and R. 
Which one of the following is correct in respect of the above Question and the Statements ?

	Type
	multiple-choice

	Option
	The Question can be answered by using one of the Statements alone, but cannot be answered using the other Statement alone.

	Option
	The Question can be answered by using either Statement alone.

	Option
	The Question can be answered by using both the Statements together, but cannot be answered using either Statement alone.

	Option
	The Question cannot be answered even by using both the Statements together.

	Answer
	4

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83



